WEEK 3 LAB

MATH 131: Calculus II
February 6, 2020

Covering Sections 5.2-5.3 Your Name (Print): __AnsweR Wey
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1. Suppose / f(z)dr =28 and | f(z)dz = 16. Evaluate the following integrals being careful to show each step.
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Each step should be the result of ONE of the properties of definite integrals as stated in Table 5.4 in Section 5.2.
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2 Evaluate the following integrals. Be sure to show each step or explain your process. BE CAREFUL!
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3. Ifg(z) = / t cost dt, find g'(z). Show each step.
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4. If/ flx)dz = 4, / f(z)dz = 4 and / f(z)dz = 5, find the value of/ f(z)dz. (Be sure to show all your
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work and use the properties of the definite integral that we know one at a time.)
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.. §..Evaluate the following. Explain your work.
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b. Determine whether each of the following statements is true or false. If the statement is true, provide an appropriate
justification. If the statement is false, provide a counterexample.

(a) If f(z) # 0 on [a,b], then /b f(z)dz £ 0.
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ANSWERS NOT SOLUTIBNS EoR # 3

7. Evaluate the following integrals. Be sure to show each step or explain your process. BE CAREFUL (that is, think
carefully about your intervals)!
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(b) / ’ |20 —z%|de = Y (Remembor to express the Tn&Tm& as a plecewise Fonckion.)
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